A

A

1
Match the list I (name of scholars) with List IT (Books) and choose the correct answer
using the codes given below the list :

List - I List - 11
A. Aristotle i. Ges Periodos
B. Eratosthenes ii. The Oceans
C. Hecataeus iii. Ekumene
D. Posidonius iv. Meteorologia
A B C D

(1) i v il i

(2) i 1 i iv

@) iv iii i i

4) i 1 iv il

A1 (gt @1 M) @1 GA-L ([GTa) & A A R R gE @ R RY T BIe @
SN R FE SR T

-1 = - 11
i T aRe
ERARVIRS ii. T R
: iii. Yo
. OIS iv. MfeAmSrar

Uéfg

(1) i dv i il

() iii i i v

3) iv i i i

4) i i iv i

Consider the following statements ;

Assertion(A): Posidonius pointed out that at new moon and full moon there are high
tides whereas low tides are caused when moon is in the First and Last quarter.
Reason (R): Posidonius was a scholar of Greek period.

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A

(3) A is true but R is false

(4) A is false but R is true

ferfeRRad ®eml w faar &

AMBUT () : TSGR 3 g1 % 7 oA &k qftfar § s== R B € wefs e
Ul 3R INRaS) foardl ¥ BT & 99 B9 WK B ¥

PR (R) : UireIFRT e YRvs @ v fage 9|

(1) &1 AT IR S & 8 3R YR 37 6 e aRAT & |

(2) < TAT AR I FE! & IR IR I DY e ARAT &) 2 |

(3) 31 WEl § R IR eI & |

(4) o1 T & IR AR We © |
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3. Match the list I (name of the Rivers as mentioned in Rigveda) with List IT (The present

A

names of the Rivers) and choose the correct answer using the codes given below the
list ;

List-I List - II
A. Sutudri [.  'helum
B. Purusni II. Chenab
C. Asikni III. Ravi
D. Vitasta IV. Sutlej
A B C D

M I I I IV
@ I 1 I IV
@)y IV I I I
@mn m I IV

A1 (G & e ¥ SfeRad AR @1 T ) 31 G-I @R & adar ) @ W
AT B AR A 3 A9 RY T Pl FT ST TR Fel SR G
A - 1 =0 - 11
A. g L sem
B. gwRAl II. <99
C. ARy I =fg
D. faear IV. St

A B C D
(1)1 I oI 1v
@ I 1 I 1Iv
(3) Iv I II I
(4) 11 I 1 Iv
Consider the following statements ;
Assertion (A): Hecataes is known as the father of geography

Reason (R): His main book 'Ges Periods' presented the first systemic description of
the world

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) A istrue but R is false

(4) Ais false but R is true

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)



ferforRad ol W fER ax

@ () : Rarermd 4yma & I & Wy F H o €|

FRT (3TR) : T8 T TS T GRT fawd 1 v aRerd faRer s w2 |
(1) o 1 R <1 T § 3R IR o DT Wel A=A B |

2) 3 qAT AR Sl FE § IR AR o B Fel ARAT Tl E |

(3) 3 WE § U= SR eI € |

(4) 3 AT & W IR [l B |

Consider the following statements;

Assertion (A): Behavioural approach in geography was introduced in 1960s
Reason (R): Its origin was based on the frustration against the normative and
mechanistic models developed with the help of quantitative technique

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the Correct explanation of A

(3) Aistrue butRis false

(4) A is false but R is true

ferfarRaT woml W faar X

e (31) @ quTel § asR gRedIor 1960 & e # U fohar Ty o |

HRO (@TR) : THP IART AHAS qHAe B G @ (R wee R vie dfee @
faeg fA=Tem o= amnRa of !

(1) 37 G AR ST A& B &R IR of & HE ARAT & |

(2) o TAT AR T WE & UReg AR 3 P FE ARAT TE |

(3) & WA & UR=g IR TAT ¢ |

(4) o T & U] TR e 2|

Match the list I with List [T and choose the correct answer using the codes given
below the list;

List-1I List-1I

A. T.Haggerstrand 1. - Theoretical geography
B. William Bunge II. Geographic dissemination of innovations
C. Gilbert White III. Methods of regional analysis
D. Walter Isard 1V. Human responses to flood
A B C D

1) I 1 IV II
@ I II IV I
@) IVv I I I
@ T IV I 10

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P.T.O.



A
-1 BT - B 1T At Y SR A B Y R T P B ST e G SR g ¢
T - 1 T - 11
A. Bo TRES L e e
B. faferms a=h L. ARl BT 4RMferd TR
C. fireee =rse (1. &=y favewy & a5
D. dleer 91 V. 916 & forg #ra gffshas
A B C D

(1) I 1 IV II
2 I I IV I
@) IVI I I
4 M IV I 1II

7. Which one of the following statements is Not True about humanism in geography?
(1) Humanism does not treat humans as machines

(2) Humanistic geography gives importance - to human awareness, human
consciousness and human creativity

(3) Humanists accepts the reduction of space and place to geometrical concepts of
surface

(4) Humanism developed as criticism against positivism and quantitative revolution
ferafelRaed & | SIF-d1 S i # Aaaae @ ar # 98 8 8 2

(1) FadT 7t &7 7 & w9 § T8 7l 2 |

(2) HHIETE! HIel HIT SRS, A Ia-T AR AT Ta-eHdal o qewd odl # |

(3) WIS WaE B SR SRS B STE &R T ¥ o 31 WeR B ¥
(4) AFAATETE HHRIHS AR ATHAHD Hifd & faog raraT @ w9 7 aasRid g |

8. Match the List I{ names of the scholar) with List IT (Model characteristics) ;
List-1I List - IT
A. Taaffe and Gould 1. Six stage transport development model(1963)

B. Gould II. Four  phases interrelationship ~ between
metropolitan and third world countries
C. Vance II. Five stage Mercantile model(1970)
D. Rimmer 1V. Spatial exploration model(1966)
A B C D

1) 1 I I IV
2 I 1 1 1V
@) I IV Il I
4 IVI 1 1

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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-1 (gt & =) B gA-1 (Fed o) & e id

g -1 A - 11
A. T IR TSes o ool gRaes faar Aisd (1963)
B. WSS 11 Aeifees ok dd g & <l @
C. a= L. dfg =iy Raega #ted (1970)
D. R™R V. WRRE taa@eyd Jted (1966)
A B C D |

M 1 I I IV
@ I 1 Il IV
@) 1 IV I I
4 IV 1 I I

Which of the following model of transport development is based on the colonialism?

(1) Gould _ (2) Rimmer

(3) Vance (4) Lanchene

uRaed e & FrefaRad ded § @ d9-w Sufdeare R smerlRa & 7
(1) ST : (2) ¥R

(3) T (4) o=+

Which stage of the Vance's model talked about localised internal trade and
manufacturing ?

(1) Fourth stage (2) Second stage

(3) Sixth stage (4) First stage

qia & dieet & fhe axor ¥ weriaga sfaRe @R SR R & aR # A @1 E ?
1) ag == (2) fedira =

(3) Badl TR (4) wIH TIOI

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P:T.0;



11.  Match the List I( indices or term) with List I (Symbols) ;

List -1 List - II
A. Cyclomaticnumber I p
B. Etaindex I v
C. Alpha index L. n
D. Node ‘IV. o
A B C D

(1) I IV I II
@ I I I 1V
@) 1 I I IV
(4 1 I IV I

T (@Roww s o) @ A () S e e

-1 - 11
A. AsTRfeE wwan L
B. ScI se I v
C. P gSaA 1L n
D. TS IV. a
A B C D

(1 1 Iv II 1m
@2 I I 1O 1v
@ I I u I1v
4) I I IV II

12. Which one of the following is not a transport connectivity measure?

(1) Koning number (2) Route index
(3) Piindex (4) Detours index
T A DI STRAUIE Hdeiac! AuR el § 7

(1) SifFT /R (2) e e

(3) T R | () Ry R

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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13. Which one of the following is demersal fish variety /species?

(2) Sardine

(1) Salmon
(3) Cod

(4) Herring

T A BE- ST Aol e /gt @l § ?

(1) Fomd

(3) ®fs

(2) wverET
(4) BRAT

14. Arrange the following in descending order according to their size of population in

2015

(i) Bangladesh (ii) Japan (iii)Brazil (iv) Nigeria

(1) (iv)-(iii )-(ii )-(0)
(3) (iii)-()-(iv)-(ii)

(2) (ii)-(i)-(iii)-(iv)
(4) (iii)- (iv)-(i)-(ii)
2015 # SIFRIRET @ MR & AR Fr=fiRad a1 oreRig) 4 # 2raRed a ¢

(i) ST (i) ST (i) STeie (iv) ArgeiRa

(1) (iv)-(ii )-(ii )-(i)
(3) (iii)-(i)-(iv)-(ii)

(2) (i)-(1)-(iii)-(v)
(4) (iii)- (iv)-(i)-(i)

15. Match the list I (name of books) with List II (Authors) and choose the correct answer

using the codes given below the list ;
List-I

A. The nature of geography

B. The urban questions

C. Social justice and the city

D. Locational analysis in geography
A B C D

1) IV 1 I I

@ IO IV I 1

Gy 1 I I IV

(4) I I IV I

List -1I
I. D.Harvey
II. P.Hagget

III. R.Hartshorne
IV. M.Castels

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)

P. T.O.
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A1 QDT & ) - (e & A e X IR gl @ A R T B @
SUINT TS el SR G

T -1 | Tﬁh-il
A. T TR ife Ryt I. $o ga
B. T 319 qagEd II. o &7c
C. arrd SiRed yoe g R IIL. 3fRo BIEN
D. deIEd Ffaf 39 Rdumes IV, THo ded
A B C D

(1) IVv.1 1II II
(2) U1 v 1 1II
@) I I U v
(4 I I IV I
16. Consider the following statements;
Assertion (A): Losch's model is less restrictiv'e than Christaller's

Reason (R): Losch treated each function as having a separate range, threshold and
hexagonal hinterland

Answer:

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the Correct explanation of A
(3) AistruebutR is false

(4) A isfalsebutRis true

rfeRead odl R [JaR o -

AMHUT (31) : AT BT Afee fohveor @ o ¥ &9 IRERE © |

PRI (AR) : T A AP BaEH B Th AT Vo], RS AR TR fBeeere &
g ¥ q1 2|

(1) 1 TAT 3R T Fal © 3R AR 37 &) FEl IREAT 8 !

(2) 3 qAT IR [T T & TR IR I Bl FE GRAT Tl 2 |
(3) <1 WA B U= IR AT ¥ |

(4) 31 T & IR IR W ¥ |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)



19.

20.

el

Chain migration is based on;

(1) Job opportunities (2) Kinship

(3) Proximity to place of origin (4) Combination of 1 and 3
9 AU MR

(1) IR & JGER W (2) AT W

(3) SWRT B W & Fdcar (4) 13R 3 & FISH R
Which one of the following do not concerned with migration laws?
(1) Stouffer _ (2) Reilly

(3) Ravenstien (4) Thompson

T W BT AT A PRE & e ad v

(1) ¥R 2) deh

(3) ETRIEd (4) g

Find out the odd term out of the following.

(1) Central business district (2) Loop

(3) Centralization _ (4) Core

rafalaa A & fQww v &1 yar & -

(1) wxa fasra RRgae (2), 7@

(3) e : @4) BR

C. Harris and E. Ullman have propoundéd theory of multiple nuclei which is based
on 9 zones. Which zone occupy the heavy manufacturing?

(1) 3rd zone (2) 4th zone
(3) 6th zone ' (4) 8th zone

lo aR¥ R o ITHT 71 9 SHT W menRRa g5l e & Rigra &1 zenfie fear 2
PIF-AT SF aorHr fAafsior o1 sfeniiT ewar 2 ?

(1) 3rd & (2) 4th &=
(3) 6th = (4) 8th <

Strassendorf pattern of settlement is associated with which of the following
settlement?

(1) Compact settlement (2) Dispersed settlement
(3) Linear settlement (4) Ring pattern

.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P.T.O.



10

ol

23.

Sewriie &1 WA e PrefiRaa i & R deeric & Wi s g § 7

(1) @Hige dearie (2) feade dearie
(3) R HeaHe | 4) R Ye

Which of the province of Canada is most densely populated?
(1) Ontario (2) Nunavat

(3) Alberta (4) Manitoba
BN BT DIF-A1 Ui FE B HAETE) arelr 8 7 |

(1) siferRar | (2 TEE

(3) oTctgel (4) AFEET

Consider the following statements;

Assertion (A): The plain areas having fertile soils and suitable climate for the
cultivation of crops are the regions of high density of population

Reason (R): There is an inverse relationship between the arable land anc
concentration of population

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) A istruebutR is false

(4) A is false but R is true

Preferad woi X RaR B

IBYT (31) : HHe B WA B fory Iuwrs; ML R U Sedrg gl ATl &
A & ITd B B &F 8 |

PR - (FR) P A R AT T HDaw & G g fquda w6 7 )
(15 aﬁmmﬁﬂﬁésﬁ?maﬁwaﬁw%

(2) & T IR A FE B R AR A B AL @] TE B

(3) 31 WEI & W IR T B |

(4) 91 TET § R AR AE T |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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24. Consider the following statements;

25.

Assertion (A): Indigenous people are strikingly different and diverse in their culture,
religion and social and economic organizations

Reason (R): the indigenous people are termed as Fourth world

(1) Both a and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A

(3) A istrue butRis false

(4) A is false but Ris true

frfaRad wodl w® IR #Y

e (@)« wEh @R T eph, e ofR Wi SR Sniie HISH! H BTl ST
3k fafdw 21

HRT ¢ (3R) : @ At wy el gfar FEr S g

(1) o TN 3R S W8 & iR TR o &1 | AT & |

2) aammﬁﬁ%mwaaﬁﬁmﬁ%l

(3) & W& ® WY IR TA B |

(4) 3 oI B U AR A © |

Consider the following statements;

Assertion (A): Pastoralism among the Masai is strongly linked with culture

Reason (R): Cattle are kept not because they can be sold or consumed, but because
they can be immolated in religious rites and magical ceremonies

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A

(3) A is true but R is false

(4) A is false but R is true

frafeRag et ) faR

b (3) : TS @ dra undears gear W WEph W Sl g9 T |

PHROT (AR) : FIRE B @ ST gafery 8 b 9 99T O WAl © AT Wil Sl ||
3, TR TN f 3 enfife R o SiTgE wARIE # Fai R O wad & |
(1) & oI AR A W ¥ SR AR o B wR e ¥

(2) 31 T AR TR WE ¥ UG IR A B e AT F |

(3) o WE & UR AR e B |

(4) 3 T T IR IR Tl B

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P.T.O.
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26.

27.

A
Match the list I (Races) with List IT (Sub races) and choose the correct answer using
the codes given below the list;

List - I List - II

A. Caucasoid I. American indians

B. Negroid II. Alpine

C. Mongoloid III. Melanesians

A B C

(1) I I I

2 0 I I

3 I o 1

(4 I II II
-1 (R7) D1 A1 (Fa-39) & G Ao I MR Al & A9 Ry 1 Ble a1 SUAT a1
e IR G

e - 1 T - 11
A. PIEREETS . mRew fea
B. s II. 3rurs+H
C. ANATS I11. fe=Rms
A B C -
(1) T I 1O
2 I I I
(G) I I I
(4 I HI II

Match the list I (name of estate farms) with List II (regions) and choose the correct
answer using the codes given below the list;

List-I List - IT
A. Latifundia I.  Europe
B. Ranches II. Anglo America
C. Fazenda III. Latin America
D. Plantation [V. Asia
A B C D

M 1 I IV I
@ I I IV I
@ I I II IV
(4 IV Il I 1I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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28.

29.

13

Tﬁh—l(ﬁuﬁftﬁrﬁfmﬁm)aﬁ@—l[(ﬁ)iﬁwaﬁa?ﬁaﬂ??ﬁﬂfﬁﬁﬁﬁ@aﬁew

SO TS FE SR g

-1 = - 10
A. ddwafemr L g™
B. == 1. ¥t smReT
C. o IL S orRa
D. <M IV. TRrn

A B C D
M 1 1 IV I
@ I I IV I
@G I I I IV

(4 Iv 11 1 I
Which of the following is the port of five seas ?

(1) Murmaansk (2) St. Peterbersk

(3) Moscow - (4) Valadivostoc
1 & P it wEEt &1 deE § ?

(1) FRA~D (2) frewwm

(3) HI=RT (4) JeIEIARTIH
Which of the following is not a Chinese minority community?
(1) Huis (2) Uighurs

(3) Chins (4) Manchus

o @ T AN oS wIEE T 8 ?

(1) g™ (2) TR

(3) fa= (4) da

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)

P.T.0.
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30.

31.

A

Match the list I (Shifting cultivation) with List IT (Region) and choose the correct
answer using the codes given below the list ;

List-1 List - II

A. Milpa L. Indoﬁesia

B. Ladang I1. Brazil

C. Ray III. Vietnam

D. Roka IV. Central America and Mexico
A B C D

(1) T I 1m 1w

2 IVv. 1 III II

3 II I I I

4 I IV II I

G- Rt siedem) o - @F) & o 3 B R G B AW Ry W B @
JUIART @ Hal IR ?_ﬁ :

T - 1 T - 11

A. fae I gemHRErr

B. oS II. seite

C. R ITI. ga=

D. T IV. dger amRar ik A
A B C D

Q) 1 I I v
@ IV I I 1
3 I I IV I

(4) II Iv I 1II
Rocks having vertical strata are easily loosened and broken down due to the process
of

(1) Oxidation _ (2) Bio-chemical weathering

(3) Temperature changes (4) Chelatian

Sgad URdl aTell FESH AT I Glell Bl SRl © SR T O &, $9 ufhar & SR
(1) sifeiree= (2) I-aHEa IR

(3) A H gRac (4) farerem

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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32.

33.

15

Which of the following cunes are formed by ineffective winds along the coasts and
margins of deserts?

(1) longitudinal dunes (2) Transverse dunes
(3) Barkhan dunes (4) Parabolic dunes

PreferRaa 3 & e <g=F @1 Pl ael ok AR & A @ rel Fer drell T
g1 & HNOT BIAT © ?

(1) eriegeTe e (2) g g
(3) =@M SN | (4) wtfas S
Match the list I (The end product of normal or fluvial cycle of erosion) with List II
(Geomorphologists) and choose the correct answer using the codes given below the
list ; _
List-1 List - II
A. Peneplain I. A.C.Lawson
B. Pediplain II. LC.King.
C. Panplain III. C.H. Crickmay
D. Panfan IV. W.M. Davis
A B C D
(1) Iv II 1I I
2 I I m 1
3 I 1 o I
(4 Iv I I 1I

W—I(w%mwmﬁaﬂaﬁawaﬂmm)aﬁiﬁ—n(ﬁmﬁﬁ)%
- 1 T - 11 |

A. U= I © . aaa

B. U= I wa. AL fea

C. U 1. <. v fhen

D. 9%+ V. S, o, sfds
A B C D

1) IV I I I
@ 1 I I IV
@ m I I 1V
@ IV I I 1

M.Phil.lPh.DJURS-EE-Nov.-2018)(Geography)(SET-Y)I (A) P.T.O.
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34. Match the list I with List II and choose the correct answer using the codes given
below the list ;

List - I List - II
A. Medial moraines 1. The material dropped at the end of a valley glacier
Ground moraines ' II. The material dropped at either side of a glacier

C. Lateral moraines II. Deposition of glacial till along the internal margins
of two glaciers at their confluence

D. Terminal moraines IV. Deposition of glacial till at the floor of a \}alley
A B C D |

(n 1 I m 1w

(2) O I I

@) IV III I 1

@ M IV 0 I |
AL B AT D AR A o R Gl B A RY T BT BT IUART IR WE SR G

-1 = - 11
A. AT ART I 3ol ifRR & ofd § PRE T \areh
TS ARA 1. RrR & F e fRE T wreh
C. v ART I 3" W W ] R & faRes aike &
| ARER B feutfees
D. effFe ARe IV. T defl & del R TRRR o1 feuifes
A B C D

O I oI m IV
@ I W IV I
@ Iv Il I 1
4 I IV I 1

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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35. Match the list I (Metamorphic rocks) with List II (Original rocks) and choose the

correct answer using the codes given below the list ;

List-1I List - II
A. Gneiss I. Sandstone
B. Marble II. Shale
C. Quartzite III. Granite
D. Slate IV. Limestone
A B CcC D
O I 1M IV I
@ IV II I I
3) I v I II
4 I o O 1v

FA-1 (emiie e) B G-I @ERRMT JFe) & a7 B R @ & o ol ™

BIE BT YA IS He! SR G

g - 1 ‘ & - 11
A 4 I deweH
B. AWA CIL ¥
C. TEIIEe I11. 15T
D. Wi V. dgae™

1) I I IV I
@ Iv I 1 1
@ Il IVv I 1
@ 1 I I IV

36. The earth is rotating on its axis is established by the fact that

(1) The moon and stars move in the sky
(2) The earth experiences day and night
(3) The planetary winds are blowing

(4) The time in different parts of the earth is not same

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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gRaT JOHT g8 R YA V& ¢, I8 3 G20 W Wiua g3 or ¢
(1) <ear 3R ar e § gaa € |
(2) gedt & SR M &7 9T BT B |
(3) @i gAY S B
(4) gt & fafy= Rt # awg wam =6 2

37. The gradient of highly meandering river is ranges between

(1) 20cm to 10 m per km
(2) 20 cm to 15 m per km |

(3) 20 cm to 20 m per km
(4) 20 cm to 25 m per km

TS GARR 1 B il 71 & g Bl 2 |
(1) 20 =#to & 10 #Ho wfer favo
(2) 20 W¥o A 15 #Hio Uiy fHHo
(3) 20 o | 20 Ho ufay o
(4) 20 J¥lo | 25 Ho iy falo

38. Consider the following statements and select the correct answer from the code given
below;

Assertion (A): Fjords are the features produced by glacial erosion

Reason (R): Glaciers descending from coastal mountains may reach the sea and
continue their erosion on sea floor

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the Correct explanation of A
(3) A istruebutR is false

(4) Ais false but Ris true

frafRad wodi &R AR &Y ok | R T e W Suge SR g
AMAHAT (31) : BIS TARRR &RV AR IaAfed f¥ward €|

PR (3TR) : T UBTSI 6 IR Tl TORER [HE TP Ugd GHd o AR S T W
I &ROT TN W FHd & |

(1) 1 T 3R 1 FET & 3R 3R 3 B FE! ARAT & |

(2) 31 TAT IR GHI HEl & TR IR I B T ARAT TE ¢ |

(3) 31 W B K] AR T © |

(4) 1 TAT & U= IR A & |

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(A)



39. Which of the following layer reflect very high frequency radio waves?

(1) Elayer
(3) Sporadic E layer

(2) Flayer
(4) Glayer

e § 3 P uRa 9ga 9w amgRy A axat B ufafifa ewd @

(1) § =a
(3) WRfS® g uRd

(2) T® WRd
(4) SN O9_e

40. Aurora Borealis is producead in:

(1) Ionosphere
(3) Mesosphere

(2) Exosphere
(4) Stratosphere

RRT ARTfRT 379 I BT © ¢
(1) MATREIR (2) TERATRGZR
(3) HAIR®GIR (4) wTR®HER

41.

42,

Sub polar low pressure belts are located between
(1) 50°- 55° latitudes N-S hemisphere

(2) 60° - 65° latitude N-S hemisphere

(3) 30°-45° latitude N-S hemisphere

(4) 45°-55° latitude N-5 hemisphere

WU gdiT B G99 9T 3o 4 Rerd €

(1) 50°- 55° ifeegs N-S eHIRBAR

(2) 60°-65° AfeTys N-S 2HIRHAR

(3) 30°-45° wifecys N-S eIR®BUR

(4) 45°-55° ifeegs N-S eHIRGAR
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Match the list I (winds) with List II (countries) and choose the correct answer using

the codes given below the list ;

List-1 List - II
A. Sirocco [.  Spain
B. Salano II. Libya
C. Khamsin III. Sahara
D. Gibli IV. Egypt

A B C D
M m I IV I
@ 1 I I v
@ IV m I I
@ o m IV

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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43.

A

A1 (BaR) B G-I (Q3) & [T 7 R R g d M R T Bre 1 SUANT e

[E SR G

@ -1 T - 11
A. RRrEar L =9
B. drerm=l II. fafear
C. @Aty 1. BRI
D. fireeh IV. e

A B C D
M m 1 IV I
@ I I I IV
@) IV Il I I
4 o0 m 1 1V

Consider the following statements;

Assertion (A): Fogs are more widespread over oceans

Reason (R): The oceanic fogs are generally advectional in nature
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) Aistrue butR is false

(4) A is false but R is true

fFrefaRad ol ) ffar w

A (37) : FERATRY UR HIExT 3ifdie &g 2 |

HRUT (3TR) : HEMFR & DIEX M TR R UHfa # fharers 8 € |
(1) o qAT IR SFT T 3R 3R 37 o T8 ey B

(2) & TAT AR T qE U IR T P AL AR TE ¥ |

(3) 31 WEl ® U IR T &

(4) 31 AT § I AR HE B

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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=44. Consider the following statements;

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)

45.

Assertion (A): Anticyclones are systems of high pressure surrounded by low pressure

Reason (R): A cyclor{e is low pressure system of isobars with lowest pressure at the
centre and pressure increasing in all the radial directions

(1) Both a and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) Ais true but Ris false’

(4) A is false but Ris true

frfeRaa wedl R =R =

B (3) @ TERTEAT BH <d1d W foR Iz garg drefl & € |

FROT (3TR) : U whald ITGEER o HH q@ qTell qF & O s H A9d HF <9
BT & 3R i Mega fRemelt # <amg gedr 2|

(1) o o orR <Y WA R ok AR o ) W e B
(2) o AT AR ] FE & TR IR 3 B W) ARAT 78 & |
(3) 1 WEl § UR=] MR TeAdl 2 |

(4) & AT B YR IR HEl B |

Match the list I (ocean currents) with List II (coasts) and choose the correct answer
using the codes given below the list ;

List-1 List - II

A. Florida L. S?ain and Azores

B. Gulfstream II. West coast of south Africa

C. Canary III. South-east USA

D. Beneguela IV. Grand Banks of Newfoundland

A B C D

(1) m v 1 1II

@2 I [ I IV

3 m I I IV

4 v Ul o I

P.T. O.
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46.

47.

- A
-1 (TR T) B GA-IL (@) & T A N AR g B R RA T B BT ST
RS Fel SR g ¢ ‘

g -1 A - 11

FAIRST I W9 3R R

Toh W 1L IR PR 36 ATSY TPIpT

DA . FRe-83€ 4, 9. T

e V. s 4% 3 Jwescs

A B C D

1) M IV I 1

2 I I I 1v

3 I o I v

4 IV I 1 I

o n = »

Which of the following is an area of steep slope extending just after the confinental
self ?

(1) Continental slope (2) Ocean deep

(3) Sea plain (4) Oceanic ridges

57 W P Bifcioe Yew @ a1 RRT N dren W el B e 2
(1) »ifedes i () oM S

(3) ¥ == (4) rerte Rew

Which of the following statement is false?

(1) Salinity controls evaporation

(2) On an average ocean surface water temperature is 26.7 degree centigrade
(3) The average salinity in the seas and oceans is 35%

(4) Red sea has high temperature in the south due to high evaporation
frfefaa § & @F-a1 wad 1o § ? |

(1) oravrar arsfiexor @7 fAafya owar 21

(2) AT WIZ B ALl ST BT amgHE 26.7 I AR g 2 |

(3) WHR! 3R AENNRI # 3{RAq= ofqure 35% & |

(4) S=a IR & HRYT ST # ¥ W F ST quHE B § |
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48. Which of the following statement is true?

49.

50.

(1) Kimbal has classified the oceans according to salinity
(2) Dead sea is the most saline water body on earth

(3) The maximum salinity in the southern part of the Indian Ocean is found in west
of Australia due to dry conditions

(4) 80% of the water in the oceans has a temperature permanently below 55 degree F

frfoRad # & -\ 2 WE & °

) fFaa 3 U @ SGIR FEHERT BT gIisRer a1 81

2) oAl W ST A A A#f¥FH G Arell T A € |

(3) fs FERTR @ Rh &= § waie e g uRRefEl @ o argfar @
uf¥em # il el ® |

(4) TERIFR & 80% ol ! arad 55 R F 4 a temdfl w9 & € €1

The period of nearest distance between moon and the earth is called

(1) Apogee - (2) Perigee

(3) Perigean (4) None of the above
A1 R gedl @ & e g o s 1 e ST €

(1) wareh | (2) IR

(3) gRfra= (4) 39 O ®E T

Consider the following statements;

Assertion (A): Neap tides rise to a lesser height than spring tides
Reason (R): Neap tides occur on full moon

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is not the correct explanation of A
(3) A istrue butRis false

(4) A isfalse but R is true

frefaRad sl W g &

afme (@) : RET Trgs B ger § AU Tigs $F HAE a6 el 8 |
HRUT (@MR) : A9 ez gfdfar o= B 2 |

(1) o T AR I W ¥ SR SR o &) Wél A B!

(2) o TRAT IR S WE ¥ UG AR I B Al AT TE F |

(3) 31 |E & W=y AR AT 2 | |

(4) 31 ToT § WR=Y AR WE B |

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P.T.O,
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51. Match the list I (Pass) with list II (State) and choose the correct answer using the codes
given below the list ;

List - I List - IT
A. Shipkila . Arunachal Pradesh
B. Niti passl II. Himachal Pradesh
C. Nathula II. Uttrakhand
D. Bomdi la IV. Sikkim

A B C D
1 I m IV I
@ I I 1 1V
@G IV I 1 1I
4) IV II II I

A1 (@) B AL (29 B | A o SR g @ MR R W B @1 swn axe

e I G
L -1 = - 11
A. Rrapr o I R P |
B. #fy um L fRwrEe s
C. e o [II. STRIES
D. ar<d @ AR s

A B C D
1 I m IV I
@ I m 1 1V
@) IV I 1 1

@ IV I I I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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52. Match the list I (name of Rivers) with List II (Their tributaries) and choose the correct
answer using the codes given below the list ;

List-I List - II
A. Krishna I. Chambal
B. Brahamaputra II. Indravati
C. Godavari III. Tista
D. Yamuna IV. Bhima

A B C D
1) Iv I I I
@ I v I 1
@) Iv m I I
4 I IV I 1
ﬂ;ﬁ’rlW%w)aﬁmﬁn(eﬁwaﬁﬁ)mwuﬁaﬁaﬁ?qﬁzﬁ%ﬁﬁ
T BIE BT IYANT RSB AE SR G

- 1 - 11
A. FwT 1. o9
B. S&gAT I Sgrach
C. TR 11 fo=a
D. IgA V.

A B C D
1 IV II 1 1
@ m v I I
@ IV I I I
4 1 IV TI I

53. Match the list I (type of climate) with List II (region) and choose the correct answer
using the codes given below the list ;

List-1 g List - II
Aw I. Rain shadow zone of Karnatka
Amw I[I. Thar desert

BShw I11. West Bengal and Bihar
BWhw IV. Malabar coast

A B C D |

U m IV I I

2 mr 1 IV 1II

@y o ..1. B I

4@ oI 1v 1 10

=R el

M.Phil./Ph.D.JURS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P.T.O.
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-1 (Serary &1 UhR) @) @1l @F) @ T 7 & IR gl & A1 Ry T BIe
YN PRSP Hel TR G

= - I S ¥E-I
A. T S 1. FAIcd BT T ST S
B. U UH S=g 1L aR A=
C. 4 ta wa sg [l Re 97 3R fd8R
D. 9 S&¢ 4. S IV. AGER BRS
A B cC- D
1 m v I 1
@ MM I IV I
@ I 1 1V I
4 1 Iv I I

54, Main reserve of Chromite in India are distributed in :

(1) Bihar | (2) Orissa

(3) Gujarat (4) Rajasthan
IRT H Hrge &1 7= Rod faaka # -

(1) fer # ‘ (2) shfear #
(3) IO A (4) eI #

55. Which of the following wood is obtained in the dry region of India, particularly
Karnatka, Andhrapradesh and Tamilnadu?

(1) Ebony (2) Sandalwood

(3) Sal (4) Mahua

frrafafed & & dF-0 ‘c?rqie"f YRA & YD & § U H S 2, JId: BCd, A
e o afferrg 4 ?

(1) zar (2) =T

(3) e (4) =gam

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)



A

27

56. Match the list I (Tribes) with List II (states) and chcose the correct answer using the
codes given below the list ;

List-1 List - 11
A. Santhals [. Rajasthan
B. Mikirs . Andaman and Nicobar
C. Jarawas II. Jharkhand
D. Bhils IV. Assam
A B C D
(1) Iv 1 1o I
@ O Iv I I
@ I o v
4 o m 1 I
A1 (SRR BT I (1) @ W A R SR < B A Rl T ae w1 Sw
-1 = - 11
A, T [. SR
B. fAfax II. 3few™ &R fFAeER
C. SR 1. s
D. #e IV. 3
A B ¢ D
1) IV I I 1
(2 m v I I
3 1 1O 1 IV
(4 oI m 1 1V

M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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57. Which of the following are stationary waves?

(1) Swell _ - (2) Surf
(3) Sea _ (4) Seiches
fFrefaRad # | -0 e 39 ® 7
(1) ¥ (2) &%
(3) = @) A=
58. At each place in sea or ocean tide occurs every day after
(1) 12 hours 20 minutes (2) 12 hours 22 minutes
(3) 12 hours 24 minutes - (4) 12 hours 26 minutes
TS AT AENNR A YIdh W8 W TS & 2 Bl &
(1) 12 &< 20 fame (2) 128c 22 fame
(3) 12Hc 24 fAme ' (4) 12%2 26 fAme
59. The process of soil formation is referred as
(1) Orogenesis (2) Pedogenesis
(3) Orthogenesis (4) Cosmogenesis
ST & e @1 ufhar @1 wefia fear o @
(1) SRR () eoFRRT
(3) Ao (4) PrEFRERT

60. Which of the following stage occurs when 50% of the total voids and pore spaces are
filled and the remaining 50% is occupied by air :

(1) Field capacity stage (2) wilting stage
(3) Saturated stage (4) Unsaturated stage

ﬁwaﬁﬁﬁaﬁaw@m%wwmsﬂ?mﬂwwSO%WWﬁ%GﬁQE‘W
50% &aT W ¥R Er &

(1) wies FIRTE o (2) fafeeT ww
(3) HgRTs W : (4) FRTE W

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)



61. International map projection is a modified

(1) Cylindrical projection (2) Policonic projection
(3) Zenithal projection (4) Mercatcr's projection
(1) Rycifsma vroraRT : P RIGIEAREIR I ERE
(3) St gt (4) TRHEX YrorERH

62. The correct sequence of the given parts of electromagnetic spectrum in terms of their
wave length is

(1) Ultraviolet-visible-gaimma-infrared-radio

(2) Gamma-ultrvoilet -visible-infrared-radio

(3) Gamma-radio-infrared-ultraviolet-visible

(4) Visible-ultraviolet-Gamma-infrared-radio

T e @ "ot ¥ fieye gEe Wegn & R T R B A aghh ©
(1) sregratee — afEe — T — RS — A

(2) T — SregTdrree — AREd — RS — AT

(3) T — A — IR — IfegEree — v

(4) SRyt — sregritee — AT — $EHRS — ¥

63. Which of the following projection is suitable for diamond shaped countries?

(1) Mercator's projection (2) Mollweide's projection
(3) Bonne's projection (4) None of the above
FreT wEToT § W BE-ET ERT B TR arel < @ forg Suge €

(1) AR@eR Yroiae (2) HATES YroTaeT

(3) 9 GroTa , (4) TTH A By ALl

64. Match the list I with List II and choose the correct answer using the codes given
below the list;

List-1 List - II

A. Hypsometriccurve 1. Population age sex diagram
B. Hythergraphs ~ II. Spatial travel time diagram
C. Isochrones [1I. Elevation/depression ratio diagram
D. Pyramids IV. Climatic diagram
A B C D
1 I oIV
@ 1m v I 1
3 m v I I
(4) Iv. 11 I 1

" M.Phil./Ph.D./JURS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P.T.O.
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65.

66.

67.

A BT G-I B R W e} AR G B AR RY T Bre B ST 9k T8 ST G ¢

-1 = - 11
A, Rumits &d [ S oy ot e
B. f&gyms 1. W ¢aa TgH 3IRd
C. osHEmHE II1. Cferaem / fSuee IRRT e
D. faufas V. Ferrghies R

A B C D
(M I 0 mv
2 m v 1 1
@) m IV I I
4) Iv 1 I 1

Which of the following pair is not properly matched?

(1) Rotameter-used for measuring dislances on maps

(2) Plainimeter - used for measuring areas on maps

(3) Pantography - used for reduction of maps

(4) Ediograph - used for measure volumes

e 4 1 B0 S weT A Wil ©

(1) Jerier — R R g4 99 & forg wanT fhar o @

(2) @R — T W & Y A B Ry e R o &
(3) TAUTH — TR B B B B oy yART B S

(4) s — snaas Wow @ v g fear S @

Which one of the following is not a zooplankton?

(1) Copepod (2) Flagellate

(3) Euphausid (4) Pleuston

fpg # § $I9 S[eriaed T8 8 ?

(1) ®Iuts (2) weiSTere

(3) gwifre - (4) wgweT

Epiflora and Epifauna are

(1) Pelagic species - (2) Benthic species
(3) Nekton species (4) None of the above

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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YfawreRT &R Ui @

(1) e efa - | (2) T iy
(3) W@ Sl (4) 38 | BIg TE

68. 'Baobab species is the only significant tree from Senegal to Tanzania'. This statement
refer to which of the following biome :

(1) Savana biome (2) Monsocn biome

(3) Tropical evergreen forest biome (4) None of the above

CICICIE R NI SR ] ﬁ"\ﬂﬁm qH YHAE ngcﬁw TS él wE o ffafes [y

A DI Hafid BT B

(1) a1 a8 (2) WA aam

3) ciftde Taxdfie BRI arim @) T e el
69. Match the List I( Grasslands) with List IT (Countries), |

List-1 List - 11

A. Pampas [.  South Africa

B. Pustaz II. New Zealand

C. Canterburry 1II. Hungary

D. Veld IV. Argentina

A B C D
1) 1 IV I I
@ I 1 I 1V
3) I 11 81 EAY
@ IV m I 1
-1 (Treeis) &1 Al (@) & el Al o

-1 = - 11
A. 9 I A3 AHIHI
B. gaa 1. =pfele
C. e I &
D. dJ%8 IV. s/reHT

A B C D
1) 1 Iv I 1

@2 I I I 1V
@G 1 I I v
@ IV I I I

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P.T.O.
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70.  Find out the odd among the following;

(1) Lianas : (2) Epiphytes
(3) Arboreal (4) Vines
= # Ry sma a

(1) fermma . (2) Ufwrse
(3) SR (4) =

71.  Which one of the following statement is not true ?
(i) India has two of the 25 hot spots in the world
(2) China has about 30% of its area under forest
(3) Saprophytes rely on dead animals and plants
(4) Lightening is one of the process of nitrogen fixation in soils
71§ A BH-A1 B ARG T § 7
(1) fazg # 25 gfc e § 4 9RdT 7 2|
(2) %@aﬁéﬁmwso%wﬂ%m%
(3) ¥RwIge ga ARl iR Nef wx R 7
(4) <rgefT Mg # AEge fhReE @ ufhar § s 2|

72. Match the list I (name of national parks/sanctuaries) with List IT (state) and choose
the correct answer using the codes given below the list;

List -1 List - I1

A. Keoladeo Ghana bird sanctuary 1. Assam

B. Jaldapara sanctuary II. Himachal Pradesh
C. Shikari devi sanctuary III. West Bengal

D. Manas wildlife sanctuary IV. Rajasthan

A B C D
1) IV Il I I
@ O I 1 1V
@ 0 1 IV II
4 1 I I 1V

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A)
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@1 (i e /ded B Am) B Al @R B AR A WS g @

T B BT SUANT BB Tl SR G

g - 1 - 11
A. DR B 98 Haegd I |
B. SAURT gl : II. fEamae uew
C. R & dAegd I, I el
D. 99 dscsas® dae®l V. ISR

A B C D
1) IV I I 1
@ o o 1 1V
@ I 1 1Iv I
@ 1 1 I v
73. Which of the following sarellites provide global coverage with high resolution

(1) Geostationery satellites (2). Sun synchronous satellites
(3) Both (1) and (2) (4) None of the above
frfefad § & PH-1 SUTE I YoileqeE B w1 Af¥ad FARS FIH B E |
(1) Rrree dease (2) = Rispra
() (1) &R (2) < (4) T W oI e
74. LANDSAT, SPOT and IRS are examples of
(1) Geo-stationery : (2) Sun -synchronous
(3) Return Beam Vidicon (4) Radars
1) e 2) a=-RimEd
(3) Red 4 fafss™= (4) =R

75. Which of the following sensors are unaffected by atmoshpheric conditions and thus
they are able to penetrate smoke, clouds, haze and snow.

(1) Microwave sensors (2) Radio wave sensors

(3) Infrared sensors (4) Photographic sensors

M.Phil./Ph.D./URS-EE-Nov.-2018/(Geography)(SET-Y)/(A) P.T.O.






